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1) TRADE THEORY

Question No. 1/ Question ID 283 Marks: 2.00
What is the purpose of dynamo eye bolt?
Sied BT I [T 82
(A) O Suspend radial load
IEGRICRERIIN
(B) O Lead inclined load (Chosen Option)
KIS GPT g3 HR (Chosen Option)
(C) O Lower horizontal load
FH &fs 4R
(D) O Lift vertical load (Correct Alternative)
SR HRR BT (Correct Alternative)

Question No. 2 / Question ID 277 Marks: 2.00
What is the name of foundation bolt?

BISSTM diee T 1H T 87

(A) O Bentbolt
de diee

(B) O Rawl bolt (Chosen Option)
S dlee (Chosen Option)
(C) O Conical washer foundation bolt (Correct Alternative)
dI¥R WSS dieT (Correct Alternative)
(D) O Eye bolt
3T

Question No. 3 / Question ID 293 Marks: 2.00
What is the purpose of rollers placed under the equipment?
JUSUT & 14 I BT I 7T 82
(A) O To lower easily

ST ¥ & IR & g
(B) O To lift easily
ST & IS
(C) O To move easily (Correct Alternative)
i B P fAT (Correct Alternative)
(D) O To raise easily (Chosen Option)
I FHW ISMI (Chosen Option)

Question No. 4 / Question ID 200 Marks: 2.00
What is the name of the gear mechanism?
R B foH &1 911 |1 72




(A) O Worm and worm gear
I Us 9 R

(B) O Bevel gear
Sae R

(C) O Mitre gear
AR R

(D) O Rack and pinion (Correct Alternative) (Chosen Option)
TS fuff= (Correct Alternative) (Chosen Option)

Question No. 5/ Question ID 165
Name the type of belt fastener.
e HRER BT 91H Fad?

(A) O Jackson type belt fastener (Chosen Option)
TI2Y See BRE-R (Chosen Option)
(B) O Crescent plate belt fastener (Correct Alternative)
I Y€ WIS (Correct Alternative)

(C) O Wire type belt fastener

IRR TIZY deC BRER
(D) O Alligator type belt fastener

TT3Y ST BRER

Marks: 2.00

Question No. 6 / Question ID 262
What is the name of symbol marked as 'x'?

X % ¥ A ifgd udie & am |

Marks: 2.00




(A) O Monthly

B) O Dally
A

(C) O Weekly

(D) O Scheduled for frequency other than above (Correct Alternative) (Chosen Option)
anqﬁr & ﬁﬂ'{ freffea (Correct Alternative) (Chosen Option)

Question No. 7 / Question ID 99 Marks: 2.00
What is the gauge used”

(A) O Thread callper gauge

B) O Screw pltch gauge (Chosen Option)
@ﬁﬂﬁﬁ (Chosen Option)

(C) O Thread ring gauge
I3 T 7

(D) O Thread plug gauge (Correct Alternative)
TP AS WA IS (Correct Alternative)

Question No. 8 / Question ID 161 Marks: 2.00
How to adjust the tension of belt between two fixed pulleys?
& fores gelt & ot Seg & 19 Bl Y THRARIT B2

(A) O By fixing idler pulley (Correct Alternative) (Chosen Option)
&ﬂﬂ'&fgﬁﬁ & ey B (Correct Alternative) (Chosen Option)
(B) O By sliding the pulley
ol Bl WSS HRb
(C) O By adjusting the screw of pulley
& T B USORC PR
(D) O By adjusting the length of belt
T B TS B TSORE ISP

Question No. 9 / Question ID 166 Marks: 2.00
Why copper is extensively used in electrical cables and appliances?
faggd Feal 3R IuHRON H I B 58 T R IUANT a4t fasa Srar 82
(A) O Good conductor (Correct Alternative)
Ts Hedacy (Correct Alternative)
(B) O Easy soldering (Chosen Option)
M T (Chosen Option)
(C) O Cheap in cost
RT H &




(D) O Ductile metal
BRI

Question No. 10 / Question ID 189 Marks: 2.00
What is marked as 'X'?

X' & ¥y § o1 ffgd 87

(A) O Key (Correct Alternative)
C| (Correct Alternative)
(B) O Bolt
Ci

(C) O Shaft (Chosen Option)
XY (Chosen Option)

(D) O Coupling
Hufei

Question No. 11 / Question ID 223 Marks: 2.00
What is the name of symbol used in hydraulic cylinder?
Ycitch T 19 1 52

Il

(A) O Single acting return piston
et ufaee e faest

(B) O Double acting power stoke
S99 TR IR LI

(C) O Single acting load returns the piston (Correct Alternative) (Chosen Option)
T d ST YR fiRe dlerar g (Correct Alternative) (Chosen Option)

(D) O Double acting with crushing

HRAT P Y I TfgeT

Question No. 12 / Question ID 234 Marks: 2.00
Which valve is used to permit fluid flow in one direction and block flow in opposite direction?
T & o= B 59 yarg &t orgufa 3 o faudtd = o vaTe & sl wA & o o5 ared &1 IuAnT fopan T 82
(A) O Oirifice check valve
RIE b dTed
(B) O Check valve (Correct Alternative)
P aTed (Correct Alternative)




(C) O Shuttle valve (Chosen Option)
X[ dled (Chosen Option)
(D) O Pressure relief valve
died

Question No. 13 / Question ID 201 Marks: 2.00
What is the marked as ‘X’ in gear?

MR & x & ©u A g Ui w182

(A) O Outside circle
TITHZS ThaA
(B) O Root circle (Chosen Option)
e ghd (Chosen Option)
(C) O Basecircle

(D) O Pitch circle (Correct Alternative)
o gba (Correct Alternative)

Question No. 14 / Question ID 102 Marks: 2.00
What is the name of bearing?

3 foafer 1 98 w1 82

(A) O Angular contact ball bearing
TR FTede aid ot
(B) O Thrust ball bearing
HECI CRERIRY]

(C) O Taper roller bearing (Chosen Option)
TR AR foafeT (Chosen Option)

(D) O Needle bearing (Correct Alternative)
Hrea faafer (Correct Alternative)

Question No. 15/ Question ID 9 Marks: 2.00
What is the name of screw?
Y T BT A9 T 872




(A) O Driver screw (Correct Alternative) (Chosen Option)
31%3? P (Correct Alternative) (Chosen Option)
(B) O Grub screw
U B

(C) O Self taping screw
I T &%
(D) O Thread cutting screw
BT &

Question No. 16 / Question ID 137

What is the capacity of the pipe vice to hold pipes diameter in mm?

13y 915y e frefiwiier g & st &) U e Bt & [adl 87

(A) O 65 mm (Chosen Option)
65 mm (Chosen Option)
(B) O 63 mm (Correct Alternative)
63 mm (Correct Alternative)
C©)O 72mm
72 mm
(D) O 68 mm
68 mm

Marks: 2.00

Question No. 17 / Question ID 265
What is the colour of soluble oil mixed with water?

TIegad adl BT I HI4 91 8T & o It § foremar smar 82
WO Bue

(B) O Violet
CUE

(C) O White (Correct Alternative)
g (Correct Alternative)

(D) O Yellow (Chosen Option)
diem (Chosen Option)

Marks: 2.00

Question No. 18 / Question ID 88
What is the method of metal coating?

T Y1 B HifeT Bt fafy 82

Marks: 2.00




(A) O Galvanizing (Chosen Option)
3T (Chosen Option)
(B) O Electroplating (Correct Alternative)
(Correct Alternative)
(C) O Sherardising
RRFSFHT

(D) O Cladding
FafeT

Question No. 19 / Question ID 8 Marks: 2.00
What is the file for lock repair and filing hard notches in keys?
T Bt ARG SR A1l § §TS A1d Bl WBISIeNT B b 17T [ BT HT SUANT b STl 52
(A) O Flexible file
igd

(B) O Pillar file

TR wigd
(C) O Warding file (Correct Alternative)

qrfd WIgd (Correct Alternative)
(D) O Swiss pattern file (Chosen Option)

Yo wrRa (Chosen Option)

Question No. 20 / Question ID 280 Marks: 2.00
Why foundation bolts are essential to machines?
=A% 1T BTSSR diee T SHTaxae 672
(A) O Hold machine firmly (Correct Alternative)

=M ) Tl | UHS (Correct Alternative)
(B) O Avoid shifting of machine (Chosen Option)

WA S AT I T & ﬁ‘l’Q (Chosen Option)
(C) O Observe vibration

U FR1&0 B & forg
(D) O Improve the production

IdGT H gUR

Question No. 21 / Question ID 111 Marks: 2.00
Which type of bearing used for very heavy radial load?

g upR &1 faafar &1 Iudi gga U ¥$ga IR & e fasan Srar g2
(A) O Needle bearing

(B) O Double row roller bearing (Correct Alternative) (Chosen Option)
sad 3 AR fafar (Correct Alternative) (Chosen Option)
(C) O Ball bearing
ISACRIRY]

(D) O Bush bearing
CRAEDIRY

Question No. 22 / Question ID 36 Marks: 2.00




Which material is used to protect slip gauge from rust?
T 715 & ST ¥ T & fore g wmmht &1 Ut o i 822
(A) O Oil (Chosen Option)
aa (Chosen Option)
(B) O Wax
am

(C) O Kerosene

(D) O Petroleum jelly (Correct Alternative)
(Correct Alternative)

Question No. 23 / Question ID 240 Marks: 2.00
What is the name of valve?
3 dled BT A1 1 82

(A) O 5 port 2 position valve (Correct Alternative) (Chosen Option)
5 T 2 TISN=A ared (Correct Alternative) (Chosen Option)
(B) O 4 port 2 position valve
4 U 2 Ui dTed
(C) O 3 port 2 position valve
3 TIE 2 UIeiRH aTed
(D) O 4 port 3 position valve
4 U 3 U= dTed

Question No. 24 / Question ID 259 Marks: 2.00
Which system the wick feed lubrication is categorized?
fae wis w5 oy yomel & sfavid BRI gieT 82
(A) O Hand feed
SR

(B) O Force feed

(C) O Splash feed (Chosen Option)
B (Chosen Option)
(D) O Gravity feed (Correct Alternative)
wis (Correct Alternative)

Question No. 25/ Question ID 128 Marks: 2.00

How pipes are classified?
UT3UY Y Y Fifepd faa ST 872
(A) O Shapes (Chosen Option)

u(Chosen Option)
(B) O Colour

[T
(C) O Material (Correct Alternative)
(Correct Alternative)

(D) O Uses

Question No. 26 / Question ID 132 Marks: 2.00
Which type of pipe joint take branch at 90°?
{9 UHR &1 UIgy e 90° WR S ST §
(A) O Coupling (Chosen Option)
FHURIT (Chosen Option)

(B) O Concentric reducer

X

(C) O Tee branch (Correct Alternative)
CECIES (Correct Alternative)
(D) O Eccentric reducer

=

Question No. 27 / Question ID 248 Marks: 2.00
Which valve is used for mechanical position to sense in machine automation system?

=i sifameH Red § Ahfed USieH & 39 B & i f5g gifie arcd &1 Iuai f5ar S g2




(A) O Directional valve
dled
(B) O Flow control valve (Chosen Option)
¢I<l dled (Chosen Option)
(C) O Pressure relief valve
dled
(D) O Roller valve (Correct Alternative)
dled (Correct Alternative)

Question No. 28 / Question ID 221 Marks: 2.00
What is the name of part marked as 'X'?
X' & =g | FRifga YT &1 A 1 872

(A) O Seal
da

(B) O Spring
=

(C) O Cylinder
IBSER

(D) O Piston (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 29 / Question ID 292 Marks: 2.00

Why the lifting pockets are provided with the equipment?
JUHRT & 1Y fefTeT Uihey ot UeH & ol 82
(A) O Position the roller for moving (Chosen Option)

@Wﬁ&ﬁﬁﬁﬂﬁ@-ﬁﬁﬂﬁ?ﬁ@ (Chosen Option)
(B) O Place the steel wedge

WId 31 Y@ & forg
(C) O Provision for bolt and nut

3R e & forg g™

(D) O Place the crowbar for lifting (Correct Alternative)

I P 1%112 PR B @A & 1%11: (Correct Alternative)

Question No. 30 / Question ID 175 Marks: 2.00
Which is the imaginary circle on two matting gears?
3 AT IR R PIeue 96 HIF 9182
(A) O Addendum circle

3gSH Th
(B) O Root circle
=C
(C) O Base circle (Chosen Option)
BSE| (Chosen Option)
(D) O Pitch circle (Correct Alternative)
(Correct Alternative)

Question No. 31 / Question ID 69 Marks: 2.00
What is the process to refine the structure of steel component?

T g B AT DI URSHT B B UfehaT 37 82
(A) O Annealing
THITT

(B) O Normalising (Correct Alternative)
T T (Correct Alternative)
(C) O Tempering
T

(D) O Hardening (Chosen Option)
(Chosen Option)

Question No. 32 / Question ID 113 Marks: 2.00
Which part of ball bearing do not rotate along the bearing assembly?

I faafr &1 o 1 e faafe e & Iy gudr 78 82
(A) O Rolling elements
AfeiT el




(B) O Outer race (Correct Alternative)
3T3eX ¥ (Correct Alternative)
(C) O Innerrace
TR
(D) O Ball cage (Chosen Option)
Sid ol (Chosen Option)

Question No. 33 / Question ID 125
Which type of bearing metal is self lubricated?
e yeR & g uig & @ | A g1 g2
(A) O Cadmium based alloy
Pt 3w Ay urg

(B) O Sintered alloy (Correct Alternative)
Sintered alloy (Correct Alternative)

(C) O Aluminium alloy (Chosen Option)
s YTd (Chosen Option)
(D) O White metal
qrse Acd

Marks: 2.00

Question No. 34 / Question ID 10
What is the name of screw driver?
Bl T T T 872

(A) O Heavy duty screw driver
AT JIR
(B) O Offset screw driver (Correct Alternative)
T P GIgdR (Correct Alternative)
(C) O Standard screw driver

F §RR
(D) O Pnilips screw driver (Chosen Option)

foeferem P gIgaR (Chosen Option)

Marks: 2.00

Question No. 35/ Question ID 156
What is the name of metal alloy of lead, tin, copper and antimony?
i, e, dfar 3R TH & fiysr erg 1 AT F1 82
(A) O Babbitt metal (Correct Alternative)
(Correct Alternative)

Marks: 2.00




(B) O Leaded bronze (Chosen Option)
NESEIE (Chosen Option)

(C) O Gilding metal
ST Aed

(D) O Bronze
LISK]

Question No. 36 / Question ID 168 Marks: 2.00
Which type of belt drive, the driven shaft will rotate in opposite direction to driver shaft?
P UHR FT dec S15d, TdTad ATHE ATere JMUT o ORI fe=m & gaT?

(A) O Cross belt drive (Correct Alternative)
P deT $Igd (Correct Alternative)
(B) O Stepped drive
XUE 84
(C) O Right angled belt drive
(g WITS dee g1gd
(D) O Open belt drive (Chosen Option)
ahuqa?c'swsa (Chosen Option)

Question No. 37 / Question ID 285 Marks: 2.00
Which tool is used in inspection during the acceptance tests of new machines?
T3 =it ot wierd gteron & SR A e § ford IuwHR0T 1 IUART fobar ST 872
(A) O Test mandrels (Correct Alternative) (Chosen Option)
T ﬁ;ﬁq (Correct Alternative) (Chosen Option)
(B) O Plumb bob
T g
(C) O Steel rule
&
(D) O Try square
TR WA

=

Question No. 38 / Question ID 257 Marks: 2.00
What is the frequency of maintenance symbol?

[EETG Uil Bl Wiehd] 1 872

(A) O Monthly
e

(B) O Frequently
IR R
(C) O Weekly (Correct Alternative)
(Correct Alternative)
(D) O Daily (Chosen Option)
IS (Chosen Option)

2) WORKSHOP CALCULATION AND SCIENCE

Question No. 1/ Question ID 305 Marks: 2.00
What is the unit of strain?

ferepter @t gebrs T 87

(A) O Kglem? (Chosen Option)
Kglcm? (Chosen Option)

(B) O Newton/metre?
Newton/metre?

(C) O Metre
Metre

(D) O No unit (Correct Alternative)
No unit (Correct Alternative)

Question No. 2 / Question ID 298 Marks: 2.00
Which is used to reduce the friction in machine parts?
TR YT & G0 1 B B & foTg fhaest IuanT f3a ST 82
(A) O Lubricants (Correct Alternative)
(Correct Alternative)
(B) O Petrol (Chosen Option)
¢IcT (Chosen Option)
(C) O Kerosene
gt &1 da

(D) O Water
Ligi|




Question No. 3 / Question ID 307 Marks: 2.00
What are the various stages of heat treatment?
ST IUAR F A= =Ror @1 §2
(A) O Heating, Cooling and Quenching
(B) O Heating, Soaking and Quenching (Correct Alternative)
. T 3R FERAT (Correct Alternative)
(C) O Quenching, Cooling and Heating (Chosen Option)
ifefTT, felT 3R BT (Chosen Option)
(D) O Soaking, Quenching and Cooling

Question No. 4 / Question ID 309 Marks: 2.00
What is colour of a metal piece when heated to 250°C while doing the tempering process?

ST Ui IR THT U U1 & ¢S B 250°C TR T o ST B, T 3 U1g & s T 1 &1 gRI?
(A) O Brown (Correct Alternative) (Chosen Option)

YR (Correct Alternative) (Chosen Option)
(B) O Blue

e

(C) O Purple
ST

(D) O Pale
iKl]

Question No. 5/ Question ID 313 Marks: 2.00
What is the other term of pocket reference in engineering works?
Sofifaf wraf & Utdhe Wha &1 gIRT Weg &1 32
(A) O Hand book (Correct Alternative)
(Correct Alternative)
(B) O Hand tool
B SMNIR

(C) O Good book

s g
(D) O New book (Chosen Option)

Y gbh (Chosen Option)

Question No. 6 / Question ID 314 Marks: 2.00
Who prepares the cost of estimation?
3BT BT AT DI IR BT 82
(A) O Operator (Chosen Option)
1L (Chosen Option)
(B) O Draughts man

(C) O Quality Inspector
g e

(D) O Estimator (Correct Alternative)
S[HIP (Correct Alternative)

3) ENGINEERING DRAWING

Question No. 1/ Question ID 329 Marks: 2.00
Which symbol is used for butt joints?

§e Sige & foru fp fre &1 wah fban i 22

A) O
(Correct Alternative)

(Correct Alternative)

B O




©o

(Chosen Option)

(Chosen Option)

D) O

Question No. 2 / Question ID 331 Marks: 2.00
This type of section is limited by a break line
Y THR BT ST TP N A3 gR1 At B

(A) O broken-out section (Correct Alternative) (Chosen Option)
‘GCI-8 8T SIIHIT (Correct Alternative) (Chosen Option)
(B) O revolved section.
TRYTOT ST
(C) O half section
SHTHT S{FHTT
(D) O removed section
T T S{FHIT

Question No. 3 / Question ID 330 Marks: 2.00
Which symbol is used for lap joint?

AU Hiige & for feg Ride o1y fvar wrar g2
A) O

(Correct Alternative)

(Correct Alternative)

(B)O




©o

(Chosen Option)

(Chosen Option)

(G)Xe;

Question No. 4 / Question ID 317
Which of the following is temporary fastening?

fafifEg 8 @ o srurh wrefin 82
(A) O Welded
=S

(B) O Screw (Correct Alternative) (Chosen Option)
TP (Correct Alternative) (Chosen Option)
(C) O Keys
St

(D) O Rivets
facw

<

Marks: 2.00

Question No. 5/ Question ID 320
The rivet head for a general purpose shown in the figure below is

= few e o 7 ferame TTe g v % e Rac @S ©

(A) O flat
Rie

(B) O counter sunk (Correct Alternative) (Chosen Option)
PI3cX P (Correct Alternative) (Chosen Option)

(C) O pan
o

(D) O snap
pebe}

Marks: 2.00

Question No. 6 / Question ID 322
Riveted joints is a
e wige
(A) O permanvent joints

SIEH

Marks: 2.00




(B) O temporary joints
ST Siige

(C) O semi permanent (Correct Alternative) (Chosen Option)
aref =Tt (Correct Alternative) (Chosen Option)

(D) O none of these

T A BIE LT

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 405
When something good happens to us, we feel

TS AR WY $S 3731 8l § al gH Ty BT 8|
(A) O irritated

(B) O negative emotions like anger
SRt THRIAS HTaT
(C) O angry
DY
(D) O positive emotions like happiness (Correct Alternative) (Chosen Option)
HPRTHAD HIGHT (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 2 / Question ID 434

Mock interviews help candidates.......

Al 3o HIIST P - & (AT TG vl &

(A) O over confident (Chosen Option)
IR Fifps< g o (Chosen Option)

(B) O rehearse how to perform in an interview (Correct Alternative)
TS 37 H USRI $H BT Yaiary &34 (Correct Alternative)

(C) O enthusiastic

(D) O become nervous

EEEEE]

Marks: 2.00

Question No. 3 / Question ID 555

O N G| A | o i —— 3R @1 YR 1 SHfTaTd BT B |
(A) O woman, prevented

(B) O woman,preventing

(C) © woman, prevent
(D) O women, prevention (Correct Alternative) (Chosen Option)
3ff, fraror (Correct Alternative) (Chosen Option)

POSH mandates safety of -------------- and of sexual harassment in the work place.

Marks: 2.00

Question No. 4 / Question ID 465
To create a new presentation, choose.......
TT UR=C=H §H & forg go--
(A) O Ctrl+Vv
Ctrl+V
(B) O Ctrl+N (Correct Alternative) (Chosen Option)
Ctrl+N (Correct Alternative) (Chosen Option)
(C) O Ctri+C
Ctrl+C
(D) O Ctrl+B
Ctrl+B

Marks: 2.00

Question No. 5/ Question ID 448
The Principal issues a circular about the dress code to be followed by all students. This is a

(A) O formal (Correct Alternative)
(Correct Alternative)
(B) O informal
(C) O non-verbal
Hife®

(D) O oral (Chosen Option)
(Chosen Option)

g A T ST GRT ST BYS BT UTeH B $ SR H Ueb TpeR IR} fohadT| T8 T —-momev TR B

Marks: 2.00
communication.

Question No. 6 / Question ID 355
Comma, full stop, question mark are examples of...
Comma, full stop, question mark are examples of...

Marks: 2.00




(A) O next paragraph (Chosen Option)
next paragraph (Chosen Option)
(B) O formal communication
formal communication
(C) O punctuation mark (Correct Alternative)
punctuation mark (Correct Alternative)
(D) O design
design

Question No. 7 / Question ID 376 Marks: 2.00
Which kind of persons are with very good behaviour, achievements and lead as an example?
Which kind of persons are with very good behaviour, achievements and lead as an example?
(A) O ITlinstructors (Chosen Option)
ITI instructors (Chosen Option)

(B) O customer service executives
customer service executives

(C) O sales supervisors
sales supervisors

(D) O role models (Correct Alternative)
role models (Correct Alternative)

Question No. 8 / Question ID 374 Marks: 2.00
The immediate surroundings to the place you live in is called
The immediate surroundings to the place you live in is called
(A) O city (Chosen Option)

city (Chosen Option)
(B) O neighbourhood (Correct Alternative)
neighbourhood (Correct Alternative)
(C) O Vvillage
village
(D) O town
town

Question No. 9 / Question ID 514 Marks: 2.00
Which of the following is not a resource?
ST o1 Teb T T ©
(A) O Customer database (Chosen Option)
IEH eI (Chosen Option)
(B) O Loss in business (Correct Alternative)
IR | "reT (Correct Alternative)
(C) O Raw materials
ol JHId

(D) O Profit earned
ST TH

Question No. 10 / Question ID 356 Marks: 2.00
When you start a discussion on a topic, what do you say?
When you start a discussion on a topic, what do you say?

(A) O Let me say
Let me say
(B) O Letyou start
Let you start
(C) O Let's us finish
Let's us finish
(D) O Let's discuss (Correct Alternative) (Chosen Option)
Let's discuss (Correct Alternative) (Chosen Option)

Question No. 11 / Question ID 468 Marks: 2.00
Which one is the widely used file type to create typed documents?
TRY SN I & oY SATUH U ¥ ITINT Bt A alchl HIsd THR B I g2
(A) O ppt
ppt
B) O xlIs
xls
(C) O doc (Correct Alternative)
doc (Correct Alternative)
(D) O jpg (Chosen Option)
jpg (Chosen Option)

Question No. 12 / Question ID 417 Marks: 2.00
An employee gets feedback from supervisors, HR and other colleagues to...
307 GORATSTR,HR 3R 31 THTHaT ¥ WISTad U g &1 BRI §
(A) O be insulted
SUHTAT BHRAT
(B) O feel bad
R HGHH DT
(C) O feel uncomfortable
3T Heqd PRIl
(D) O improve (Correct Alternative) (Chosen Option)
YYUR (Correct Alternative) (Chosen Option)




Question No. 13 / Question ID 340 Marks: 2.00
What is an essential life skill for social and professional purpose?
What is an essential life skill for social and professional purpose?
(A) O Learning foreign language

Learning foreign language
(B) O Learning English (Correct Alternative)
Learning English (Correct Alternative)
(C) O Learning mother- tounge
Learning mother- tounge
(D) O Learning more language (Chosen Option)
Learning more language (Chosen Option)

Question No. 14 / Question ID 370 Marks: 2.00
What help us to maintain the balance between mental and physical activities?
What help us to maintain the balance between mental and physical activities?
(A) O Walking

Walking
(B) O Running
Running
(C) O Hobbies (Correct Alternative) (Chosen Option)
Hobbies (Correct Alternative) (Chosen Option)
(D) O Reading
Reading

Question No. 15/ Question ID 352 Marks: 2.00
Magnificent, sharp, lengthy, bright,- are examples of....
Magnificent, sharp, lengthy, bright,- are examples of....

(A) O nouns
nouns
(B) O pronouns
pronouns
(C) O describing words (Correct Alternative) (Chosen Option)
describing words (Correct Alternative) (Chosen Option)
(D) O action words
action words

Question No. 16 / Question ID 569 Marks: 2.00
A merchant brought a product for Rs. 1600/- he added 11% profit and sold it. How much the merchant gained?
TP AR TH SIS DI T 1600 H TS, 3T 1% TTH SIST 3R I o a1 [samart oY fasd=m e gaim 2
(A) O Rs. 166 (Chosen Option)
Rs. 166 (Chosen Option)
(B) O Rs. 186
Rs. 186
(C) O Rs.196
Rs. 196

(D) O Rs. 176 (Correct Alternative)
Rs. 176 (Correct Alternative)

Question No. 17 / Question ID 497 Marks: 2.00
The practice of using a network of remote servers hosted on the internet to store, manage and process data is called
32T Bl TR B, T H 3R T FHR7 & T Serie R g far 71 QR ARl & Aedeh BT SUTNT B3 BI UUT Y --
------- EIHSIGI]

(A) O Yahoo
Yahoo
(B) O Cloud computing (Correct Alternative)
Cloud computing (Correct Alternative)
(C) O Google (Chosen Option)
Google (Chosen Option)
(D) O Search Engine
Search Engine

Question No. 18 / Question ID 371 Marks: 2.00
When you meet the instructor inside or outside the ITl, itis....
When you meet the instructor inside or outside the ITl, itis....
(A) O informal the ITI (Chosen Option)

informal the ITI (Chosen Option)
(B) O .formalinside the ITI
. formal inside the ITI
(C) O always formal (Correct Alternative)
always formal (Correct Alternative)
(D) O informal outside
informal outside

Question No. 19 / Question ID 489 Marks: 2.00
What is the basic requirement for IT related work?
TS | Taifid B & fore Tera STa=ahar a1 872
(A) O Computer (Correct Alternative)
TS (Correct Alternative)
(B) O IT companies (Chosen Option)

(Chosen Option)




(C) O Browsing
a 3 3.

(D) O Internet

Question No. 20 / Question ID 476
When we attempt to convert a word file into pdf, we call it...

e 89 U IS WIS B pdf & e BT YT B 8 o §H I - PEAR ...

(A) O data conversion (Correct Alternative)
oI (Correct Alternative)
(B) O jpg (Chosen Option)
ipg (Chosen Option)

(€) O copy
Brdt

(D) O doc
doc

Marks: 2.00

Question No. 21 / Question ID 447
What is to be avoided during Group Discussion?
T4t & SR {3 I1al § Fa1 91feT 2
(A) O Take initiative for discussion

EEICARIMELRERN
B) O Be.relevant

(C) O Be alistener
T 4T &+

(D) O Move aggressively (Correct Alternative) (Chosen Option)
3TPTHS =T F 3T 78 (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 22 / Question ID 384
The Everest, the ----------------- peak in the world, ----------- in Tibet.
The Everest, the -------------—--- peak in the world, ----------- in Tibet.
(A) O higher, is
higher, is
(B) O highest, is (Correct Alternative)
highest, is (Correct Alternative)
(C) O highest, are
highest, are
(D) O high, is (Chosen Option)
high, is (Chosen Option)

Marks: 2.00

Question No. 23 / Question ID 423
Listening of songs to derive pleasure only comes under
FIA 3Me P T T A1 fbads ded Hgardl 82
(A) O therapeutic listening
BEERIl
(B) O comprehensive listening
S ¥U F T
(C) O critical listening
3 Y A
(D) O appreciative listening (Correct Alternative) (Chosen Option)
TG 3T F YT (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 24 / Question ID 393
Which one is a passive voice verb?
Which one is a passive voice verb?
(A) O Walk (Chosen Option)
Walk (Chosen Option)
(B) O Was written (Correct Alternative)
Was written (Correct Alternative)
(C) O Write
Write
(D) O Express
Express

Marks: 2.00

Question No. 25 / Question ID 541
The process of learning a completely new skill is called........
fSeepel U Prere g 1 Ufeha Bl --PEd &
(A) O Reskilling (Correct Alternative)
T (Correct Alternative)
(B) O Skilled worker
f&pes g

(C) O Semi-skilled
It fepes

(D) O Upskilling (Chosen Option)
T (Chosen Option)

Marks: 2.00







